This Question Paper consists of 32 questions [Section-A (22) + Section-B (5 + 5)] and 16 printed pages.
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3 Making any identification mark in the answer-book or writing roll number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 51/08S8/2, Set— on the answer-book.
5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one
of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the answer-
book.
(b)  Ifyou choose to write the answer in the language other than Hindi and English, the responsibility for any
errors/mistakes in understanding the question will be yours only.
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ACCOUNTANCY
EEelR |
(Principles and Practice of Financial Accounting)

(Rt craie % R Td w@ER)

(320)
Time : 3 Hours] [Maximum Marks : 100
T ¢ 3 H%] [quie : 100
Note : (i) This Question Paper consists of two Sections, viz., 'A' and 'B'.

(i) All questions from Section 'A' are to be attempted.

(iii) Section 'B' has got more than one option. Candidates are required to attempt
questions from ome option only.

MR : () WU T A AR T~ @ F qu @ q |
(i) @ ‘or & AWM U B TA HCNW T |
(i) @e @ H Up ¥ Nty fowew ¥ | qOai @ haw uw ey & & oAl

% AT o © |
SECTION - A
g — H
1 What is meant by ‘Suspense account’ ? 1
SR @ @ own ot ¥ 7
2 Distinguish between ‘fixed capital account’ and ‘fluctuating capital account’ 1

on the basis of balance.

Y & YR W Wl Ui W’ g giEaasi| st '@ W oY Qg |

3 What is meant by ‘Common Seal’ of a company ? 1
A B CGERE AT B RN AT 57
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4 What is meant by a ‘contraentry’ ? Give any two examples. 2

‘giq wfafte’ @1 w1 & ? Wiz & SEEY QN |

5 State the disadvantages of ‘cash basis’ of accounting. 2

qehg SMEMXA’ WEIhT Hl BWEl Bl Seeid HirT |

6 Distinguish between ‘manual accounting’ and ‘computerized accounting’ on 2
the basis of :

(1) recording and

(i) adjustment entries

AP Wb qUT HRYEUHA w@ihT H T H SR W SRR Wy
() offeEs qun

(i) THRYSH glaieat

7 Define ‘transaction’ and ‘business entity’. 2

T qAT HAGINAB FBE bl LT QANTT |

8 State any two objectives of financial accounting. 2

foig wEie & fhel & el &1 Seei@ Wity |

9 What is meant by ‘gaining ratio’ ? 2
‘Sffgere orgua’ 1 @ off ¥ 7

10 What is meant by ‘Accounting Period Concept’ ? State its significance, 4
giving any three points.

WEhT HAY FAUROT B F AT T 7 TR AEA B B3 A (O I
TG BT |

11  What is meant by ‘Ledger’ ? Name any four types of ledger. 4

Trar S8 &7 w7 o ¥ ? TRl I YR @ @I 981 & AW ST |
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12 Record the following transactions in the books of Hema : 4

(i) Received T 9,850 from Ashok a debtor in full settlement of his account of
Z 10,000.

(i) Paid ¥ 30,000 to Ravi a creditor on account out of a sum of I 35,000 payable
to him.

(iii) Outstanding repairs bill was I 750

(iv) Paid insurance in advance I 1,500.

frrafafea @l o wiaftedl 5@ & gasl o @iy -

() T 10,000 % TH ITER AMH ¥ I Fuer ¥ T 9,850 wra fRA |

(i) ¥ 35,000 % TH WTRR VI & IqH @A &g < 30,000 H g fHam |
(iii) ofed WA faw@ T 750 an |

(iv) oM S @ g % 1,500 TR |

13  Record the following transactions in the ‘Sales Book’ of 4
M/s Gopal Furnitures who are dealers in furniture :

2015
April 1 Sold to M/s Amogh & Sons on credit
2 Double Beds @ I 15,000 per bed.
10 Chairs @ I 500 per chair. Trade discount 15%.
April 5  Sold to M/s Jain & Co. on credit
10 Tables @ < 1,000 per table.
5 Dining tables @ < 2,000 per table. Trade discount 15%.

April 20 Sold to M/s. Sonam & Co. on credit
2 Sofa sets @ < 25,000 per set. Trade discount 15%.

H, MU WrEE S WA SeX & ol fosa gwe § e weeAl @ W Sy
2015
W 1 . oy W 9 @l SUR fakg TR
2 z§@ §% T 15,000 ufq &=, 10 H&1 T 500 wia i
e 922 15%.
SUW 5 B 9N wE %, & IUR Tk R
10 & T 1,000 Ufq 29«0, 5 SEMT 2&@d T 2,000 Y aw
e 922 15%.
U@ 20 W WWY TR %, B SUR [IRF TRl
2 g1 @2 T 25,000 wia @iwr @<
e 922 15%.
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14

15
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From the following information prepare a bank reconciliation statement of
Salim as on 315 July 2015 :

%
Bank overdraft as per pass booK ... 50,000
Interest on bank overdraft..................... 1,000
Insurance premium paid by bank ... 2,500
Cheques sent to bank for collection but not yet credited ....................... 42,000
Amount wrongly credited by bank in Salim's account.................... 4,000

frrafaRad gamm & e X 31 @ 2015 & @9 &1 6 YN fgaxe R
HT -

:“El sas gl {l 53“5“ lql 3' a aasé ........................................................... S0,000
3' a aasé q{ §E:||3| ..................................................................................... 17000
aals gl{l !! lE“ | asql lql él “ jl ilqll ...................................................... 27500

G]—l“ Elas 3““ |€,§| asa la .................................................................. 427000
aals gl {l ElEH l as @lél l lElE“ {-l 3““ ..................................................... 47000

Rural India Entertainment Club paid rent I 30,000 for the year ended
315t March 2015. Rent still to be paid amounts to I 4,000. Rent ¥ 5,750
was paid during the year 2013-2014 for the year 2014-2015.

Calculate the amount of rent to be debited to the Income and Expenditure
Account of the Club for the year ended 31-3-2015.

I ARS TR FE T 31 W 2015 H GEG 5T 99 & fg % 30,000 TR
H A fmar | T 4,000 @ &1 graE ol s & 1 a9 2013-2014 H A9
2014-2015 % fIq qam fean @ feemn 35,750 a1 |

31 A/ 2015 & G 3U 99 % Q0 o9 & oG 991 FF @ & W H g
WM A R @ o @i |



16 A, B and C were partners in a firm sharing profits in 5 : 3 : 2 ratio. On 4
15t July 2015 they admitted D as a new partner for 1/6 share in the profits,
which he acquired from A, B and C in the ratio of 4 : 3 : 3.

Calculate the new profit sharing ratio of A, B, C and D.

®, G TN T UH BH H ARER T qU S 3 2 F AgUd W W qgied & |
1 @S 2015 & @9 % 1/6 9F % @0 =/ A ° B TH T GERER IR
T AT W H, @AM T H 403 ;3% Agud W U R | B, @, T qUn
T B T WH SIUE T b |

17  With the help of an example for each, explain (a) over subscription of shares 4
and (b) under subscription of shares.

Y & Uk Uh SAEIU &l e™al ¥ (&) ofgl @1 onfyem — oifem qe
(@) siet @1 o — SIfY¥EM W AR |

18 Rectify the following errors in the books of M/s Pranaya & Bros. : 6
(i) Sales return book was undercash by I 250.
(i)) Cheque X 7,550 issued to M/s Vikram & Co. was not recorded in cash book.

(iii) A purchase of ¥ 27,500 from M/s. Gupta & Sons was recorded in the purchase
return book.

(iv) X 10,750 paid for repairs of machinery were debited to machinery account.

H. YU UUS §EE & gl o FrEfaiaa Sgifedl & sies @l e wiatat
CAIE L

(i) Teopa IO gEw @1 A % 250 HA @I T

(i) A fapm woe &, @ Trif T 7,550 &% Uh Aqd w1 @@ Ahe 98 § A
o T |

(iii) #. T TS T ¥ T 27,500 % HI H T@ HT A9 JEb H BT &
™|

(iv) T & T )X T 10,750 & = w9 @ % AW ¥ faw T
T |
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19 MB. Cine Production Ltd. invited applications for issuing 70,000 equity shares
of ¥ 10 each at a premium of ¥ 2 per share. The amount was payable as
follows :

On Application and allotment ¥ 4 per share (including premium)

On First call ¥ 6 per share

On Second and Final call — Balance.

Applications for 1,50,000 shares were received. Applications for 10,000 shares were
rejected and money refunded. Shares were alloted to the remaining applicants on
pro-rata basis. Excess money received with applications were adjusted towards sums
due on first call. All calls were made and were duly received except on shares
of Joy who had applied for 1400 shares and did not pay the two calls. This shares
were forfeited after the final call.

Pass necessary journal entries for the above transactions in the books of the company.

wH, . 9T W™ W 4 T 10 e & 70,000 §HAT SisW @l I 2 Wi sie
% Wit R frife & & fag emees smfem g | aly &1 gam = van
¥ ®E oA

e quT eEeT X ¥ 4 gy siyr (Nhmem gfsa)

oy grEAl uX % 6 Wia siyr

U qun Af=qH ArE T - 9

1,50,000 it &% T@Q sEes wrd g 1 10,000 sk & faw smaed & @ &<
fen mn qen iyt aftm & A |1 W SEEdl W AFUaE enER ux Siet
®T STEeT HY &A1 T | SMEEd WX UTd offafiad ST &l THRNS WUH Il
U 3T R H BT T T | 9 JeE G @ g a9n S [es 1400 8iet
% fQ amdeq o o @l Biewy 89 W & 5 | S SMl Areete @ e
T T | AqH AT % UeE IE% eSS HY fodn T |

SR WAel & SOl B GEH W AEsdd AsHrT wiaftedl iy |

20 Pass necessary journal entries in the books of C.B. Infrastructures Ltd. for the

issue of debenture in the following cases :

(1) Issued X 97,000 10% debentures of T 100 each at a discount of 6% redeemable
at a premium of ¥ 20 per debenture after three years.

(i1) Issued 2,000, 9% debentures of T 1,000 each at a premium of 10%, redeemable
at a premium of 5% after three years.

(iii) Issued ¥ 10,00,000 9% debentures of ¥ 100 each at par redeemable at a
premium of I 10 per debenture after three years.

. shrgdad ™. @ gael § = Rafqal o wowst & Frime % o

JMET® Al giafedt Hivg -

(i) 97,000 % X 100 UA® & 10% FOUSA &1 FREA 6% & q§ UX Fpam T,
fSept ol O awt & g9e % 20 Wi Fos % WREA 9T & oan |

(i) ¥ 1,000 UA® 9% % 2,000 FOGA w1 FEET 10% & WREH WX THAT T,
fSept ofiem @9 awl & 999 5% % WREH 9 & oar |

(iii) ¥ 100 ¥&® % T 10,00,000 % 9% Fo= &1 AT w07 wX fmam T
fSepr ol O awt & gge % 10 9id Foms % WREA 9T & an |
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21 From the following trial balance of Lala Ram & Sons for the year ended 10
318t March, 2015, prepare Trading and Profit and Loss Account for the year
ended 315t March 2015 and Balance Sheet as on that date :

Particulars Debit Credit
Balances Balances

4 4

Stock (1-4-2014) ..o 35,000 ..o -
Purchases ... 1,20,000 ... -
Sl o e 1,85,000
Carriage Inward ... 12,000 ... -
Commission paid ...............ccoccoioiiiiiei 13,000 ..o, -
Rent, Rates and Taxes ............................................ 17,000 ... -
Salaries ... ... 24,000 ... -
Bad debts ... 3,500 ... -
Electric charges.....................cooccciiiii 11,500 ..., -
Bank Loan ... e 30,000
Sundry debtors ... 45,000 ..o -
Sundry Creditors............oooiiiii SEUUTURR 35,000
Office equipments.....................oooiiiieiiieeiee 70,000 ... -
Cash at bank ... 33,000 ... -
Building ... 2,30,000 ... -
Capital ... e 3,64,000
6,14,000 6,14,000

Adjustments :

(1) Closing stock was I 74,000.

(2) A provision of 5% on debtors was to be created for bad and doubtful debts.
(3) Salaries outstanding were I 5,000.

(4) Provide depreciation on building @ 10%.

(5) Loan was obtained @ 10% p.a. interest on 1-4-2014.

320/51/08S/2_A | 8 [0 1 Contd...



31 |/ 2015 @ @O0 U9 U8 99 & MW qdde 9 31 91 2015 @ g9

9 % foIg @i ud Ww-siN @@ SRy

RIH (1-4-2014) ..

as q 8888888800000 00000000000000000000000000000000000000000sssssrrns

8888888800000 00000000000000000000000000000000000000000sssrs

3||5|as l“gl 4888888000000 00000000000000000000000000000sssssssssns
as|i|3| | a q | R R I ™™™
as {l q |, a t Elell as { 4484888000000 00000000000000000000000000s

8888888800000 000000000000000000000000000000000000000000ssssrs

5|5| |i5| | E’l | E| B R A R R I O I A R R

” a |...............................................................

1)

3)
4)
5

e e e

8888888800000 00000000000000000000000000000000000000000sssssrrns

atfvam i T 74,000 o1 |

e da- T 5,000 o1 |
T99 W 10% & T T & |

B 1
3

.....35,000

serae

serae

1,20,000

...12,000

.

.. 13,000
...17,000
...24,000
worr 3,500

.

..11,500
...45,000

trsrrrrrans

...70,000

.

..33,000
2,30,000

trsrrrrrans

6,14,000

2) Wiy qun sEd w0 % WY SRRl W 5% w1 gEUe

aur SO fafyr & Rufy fexor O

e Y L

,000

.3,64,000

6,14,000

DT o1 |

FOT 1-4-2014 & =T B 10% aMi¥e &l X 9 g fpam mam |

OR / s¥an
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From the following Receipt and Payment Account of Shri Krishna Hospital for
the year ended 31-3-2015 and additional information, prepare Income and Expenditure
Account of the Hospital for the year ended 315t March 2015 and Balance Sheet
as on that date :

Receipts Amount | Payments Amount

3 3

To Balance b/d By Salaries 3,40,000

Cash 10,000 | By Equipments 80,000

Bank 75,000 | By Furniture 17,000

To Subscriptions 1,70,000 | By Construction of building| 3,00,000

To Sales of Medicines 2,70,000 | By Diet expenses 85,000

To Donations 50,000 | By Laundry expenses 8,000
To Govt. grant By Electricity and

for building 4.00,000 Water charges 98,000

To Bed charges 1,25,000 | Cash 70,000

Bank 1,02,000

11,00,000 11,00,000

Additional Information :

(1) On 31-3-2015 subscription outstanding were I 4,000 and subscriptions
received in advance were I 7,000.

(2) On 1-4-2014 the hospital had building ¥ 13,70,000, equipments I 2,30,000.

(3) Subscriptions outstanding on 1-4-2014 were I 9,000.

31 9 2015 & @9« 3T A9 & (WU N FOU @A & EarEad wird

IO YEE G q9 AfaiEm a9, 31 "™ 2015 @ g9 Y a9 % fag

m—mwawv@rﬁfﬁaﬁﬁaﬁmwvﬁﬁq:

BIRE| T | A RUE
z z
1 1 1 G O Ias 3,40,000
CE 10,000 | §a== 80,000
¥& 75,000 | weTeR 17,000
SEd| 1,70,000 | wa= Fmfor 3,00,000
gl @1 famg 2,70,000 | W= =g 85,000
TH 50,000 | @iEt == 8,000
79 % foag fosell qen w@ = 98,000
SECAEUIC G G| 4,00,000 | Vs 70,000
faeR feTmn 1,25,000 | ¥ 1,02,000
11,00,000 11,00,000

SfaRad ga

(1) 31 9/ 2015 @& oEq Ol < 4,000 qa1 S| w=1 T 7,000 AT |
(2) 1-4-2014 ® FWAW ® TE T 13,70,000 B WA A1, T 2,30,000 & I & |
(3) 1-4-2014 @& af&q @=1 T 9,000 &1 |

320/51/08S/2_A | 10 [0 1 Contd...



P and Q were partners in a firm sharing profits in 3 : 2 ratio. Their balance
sheet as on 31-3-2015 was as follows :

Liabilities Amount |Assets Amount
3 3

Capitals : Land 2,00,000
P 1,40,000 Building 1,40,000

Q 1,00,000 2,40,000 | Furniture 20,000
General Reserve 1,28,000 | Debtors 48,000
Bank Loan 72,000 | Stock 32,000
Sundry Creditors 80,000 |[Bank 80,000
5,20,000 5,20,000

On the above date R was admitted as a new partner and the new profit sharing
ratio was 3:2:3. It was agreed that R will bring I 1,00,000 as his capital and the
necessary amount of his share of goodwill premium. The goodwill of the firm was
valued at I 4,00,000. Building will be depreciated by 10% and land will be increased
by ¥ 40,000. Furniture was to be depreciated by 5%. A provision of 5% on debtors
was to be made for bad and doubtful debts.

Prepare Revaluation Account, Partners Capital Accounts and Balance Sheet
of P, Q and R on R's admission.

W d R TR HH k GEER Y qUT 3 2 % o U § WW gied I |
31 W/ 2015 & o9l Rafa fqaor e g @ an ¢

[T [ T

4 4

Usil o 2,00,000
q 1,40,000 SGE| 1,40,000

] 1,00,000 2,40,000 [®wArEx 20,000
T g 1,28,000 [TER 48,000
¥ = 72,000 [i 32,000
= wER 80,000 [¥&% 80,000
5,20,000 5,20,000

St fafyr @ R &l U A1 9RE a9 T | T @ S 3:2:3
a1 | wg Pl fwam mn TR e st dS % % 1,00,000 qen e WRRm %
fTg o ey @l smasde N @R | ®H @ @G & e < 4,00,000 fean
T | WA UX 10% e @Al SR qer 9 @ % 40,000 ¥ ger™T SR |
FAER T 5% H YRIed W SRAT | AR Y €@fey ud g9d w0 % fag
5% w1 WrEaE™ TR SR |

T @[, 9RER 6 sl @ a9l X % Y99 9% U, ® T AR
# Ruld foawon R st |

OR / dAygaM

10
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Ram, Mohan and Sohan were partners in a firm sharing profits in 5:3:2 ratio.
On 31-3-2015 their balance Sheet was as follows :

Liabilities Amount | Assets Amount
i i
Capitals : Plant 2,08,000
Ram 1,80,000 Furniture 32,000
Mohan 1,40,000 Building 2,00,000
Sohan 1,20,000 4,40,000 | Debtors 28,000
Workmen Bills Receivables 18,000
compensation fund 40,000 | Stock 10,000
Creditors 80,000 | Profit and Loss A/c 50,000
Bills Payable 50,000 | Bank 74,000
Outstanding expenses 10,000
6,20,000 6,20,000

On the above date the firm was dissolved. Assets were sold and the liabilities
were paid as follows :

Plant was taken over by Ram for ¥ 1,80,000. Mohan took over furniture and
stock for ¥ 20,000 and ¥ 6,000 respectively. Debtors and Bills Receivables were
realised in full. Building was sold for I 1,00,000.

A claim of ¥ 20,000 for workmen compensation was paid. Creditors accepted
< 74,000 in full settlement and Bills Payable were met in full. Outstanding expenses
were settled at I 7,400. Expenses of realisation amounted to I 8,000.

Prepare Realisation Account, Partners Capital Account and Bank Account.

M, WET qA1 AET Uk BH b AFER ¥ a9l 5:3:2 % oUW W W Sied ¥ |

31-3-2015 @ 39 Reafa e = g @ o

ERAL W | wiEn REY
z z

gl = 2,08,000
T 1,80,000 HAEAY 32,000
GIES] 1,40,000 qas 2,00,000
e 1,20.000 4,40,000 |39ER 28,000
FHar afagfa ffy 40,000 |wrT fa 18,000
GRALY 80,000 |®i® 10,000
g faw 50,000 |WH-EMN @I 50,000
e =g 10,000 | 74,000
6,20,000 6,20,000

Sute fafr & i @1 faees & wn ) = oyer @ gwfaal @ 99 o
T qeT FAl W YTaE s fE T

M 7 T 1,80,000 § I ® W f@@n | Aied § WX qO1 ©iH B HAM:
% 20,000 da1 % 6,000 § W faam | oerl d@n w= faet € 4@ owtd @ & |
W T 1,00,000 § S9 femm

HEETl @fagfd % T 20,000 % TH @ H YA [BAT T | WEERE A qO
foer & &9 ¥ T 74,000 @R wT W g 3 4@ & gl ae e T |
oeq Al @1 e % 7,400 § femn wm | agel =@ % 8,000 ¥ |

I G, FHERl % S @W 9ol 96 @l AR ey |

320/51/08S/2_A | 12 [0 1 Contd...
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SECTION - B
e — q

OPTION - 1
T - 1

(Analysis of Financial Statements)

(et Tt w1 fageron)

What is meant by ‘Comparative Balance Sheet’ ?

AT Rafa faerer & w®&noeef ¥ o?

Give the formula of ‘Debtors Turnover Ratio’. State its significance.

TR AEd U & G AT | 8% W8 &l Hl Iw@ By |

State the interest of ‘investors’ and ‘tax authorities’ in analysis of financial
statement.

g faeor fagewer o FEg@l qur @Y afbeEl & f&d &1 Swi@ wivg |

From the following information obtained from the books of XYZ Ltd., calculate
‘Return on Investment’.

4
Profit for the year ... 50,000
TO% LOAN ... 1,00,000
CUITENE ASSES ... 2,50,000
Current Liabilities ... 1,40,000
Fixed ASSOtS . o o 2,90,000

TH 9 Ss f9. @ el ¥ oUW e e ¥ fEen | TeE & Tom
P :

E‘é aﬂ G“ll ............................................................................................... S0,000
lOA) 5|E]| ................................................................................................ 17007000
o
E”Gl .......................................................................................... 27507000
=
E”Gl ............................................................................................. 17407000
o
Ealﬁl ........................................................................................ 27907000



27

From the following Balance Sheet of S. K. Ltd. as at 31-3-2014 and 31-3-2015 6
prepare a Cash Flow Statement :

Liabilities 31-3-2014 | 31-3-2015 | Assets 31-3-2014 | 31-3-2015
% % % %
Share Capital 82,000 | 1,39,500 | Land and Building | 1,00,000 | 1,50,000
General Reserve 10,000 | 20,000 | Machinery 40,000 60,000
Profit and Loss A/c | 30,000 | 45,000 | Stock 2,000 3,000
10% Debentures 20,000 10,000 | Debtors 4,000 7,000
Creditors 5,000 6,000 | Bills Receivables 2,000 1,500
Proposed Dividend 7,000 10,000 | Cash at Bank 6,000 9,000
1,54,000 | 2,30,500 1,54,000 | 2,30,500
Additional Information :
During the year depreciation charged on machinery was I 6,000.
31-3-2014 T 31-03-2015 &I TH. &. 0. & e Rafd el § &v yar fqawo
TR DI
g 31-3-2014 | 31-3-2015 | Swqfaar 31-3-2014 | 31-3-2015
% % % %
3igT o 82,000 | 1,39,500 | wfir qem wa 1,00,000 | 1,50,000
qE T 10,000 | 20,000 | =t 40,000| 60,000
&M @ 30,000 | 45,000 | wf® 2,000 3,000
10% oo 20,000 | 10,000 | ¥F_R 4,000 7,000
RS 5,000 6,000 | T T 2,000 1,500
EESUEREGIE(MI 7,000 | 10,000 | &% 6,000 9,000
1,54,000 | 2,30,500 1,54,000 | 2,30,500
i @ ¢
a9 ¥ AN W % 6,000 H TeEE™ WIET
320/51/088/2_A|] 14 (AL AR AAAAVAEHAI AN~ [ Contd...
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OPTION - 11
fawe - 11
(Elementary Cost Accounting)
(TRRYF AR =)

What is meant by ‘Indirect Labour’ ?

‘HITH TRl H o 7Y T 7

State any four objectives of ‘Cost Accounting’.

AN WEihT & el aX Seedll & Seoid hig |

Define ‘Cost Centre’ and ‘Cost Object’.

WA &5 T A AR B AT S

From the following information prepare a statement showing total cost of
production :

4
Direct material ... 2,00,000
Direct 1abour ... 50,000
DITECt @XPONSES .....ovoeiiie e 30,000
Factory overheads ... 27,000
Office and Administration overheads ... 15,000
frrafalfad gemm ¥ SR & @ ar| g9 a9 U ey R Sy

4
TG FTUT coevvetietereeetteteseseeeetesesesessesesesesessesesesesesssesesesessssesesesesssssesas 2,00,000
TG TG c+vveeeeeseses ettt es bbbttt s bbbttt bbbttt 50,000
TRAET THT ooivieeriiieeeerrireeeersaseneeerssssnseessssssnsesssssenesssssssnsesssssnnsessssssnsessssne 30,000
BT TUTEI L.vovveiiierereseteiesesess et esesese e sesesessssssesesessssssesesessssesesess 27,000
BETAT TAT TIMET TUTTEIT oo oo eae e ens 15,000



27 A firm maintains its stores ledger on the basis of FIFO method. From the
following summary of Receipts and Issues of raw materials during the month of

August 2015, prepare ‘Stores Ledger Sheet’.

2015

August 1 Opening balance 700 units @ I 50 per unit.
"6 Issued vide material requisition No. 740, 500 units
" 16 Purchase order No. 94, 1000 units @ < 49 per unit \
" 20 Purchase order No. 97, 500 units @ I 51 per unit
" 26 Issued vide material requisition No. 745, 1000 units

" 30 Purchase order No. 100, 800 units @ < 52 per unit

Teh ®Y AU @R T8 & TU9 Eh G99 Wah IR X 9.l 8 | 3 2015
% 0w = uw @ wiitg e frte & Frefafea arisr @ @ 98 fqener dan
HITT |

2015
e 1 AR 99 700 3HE @ I 50 WA IATE

"6  gmEh trme g 740, toifa g@E 500

" 16 HY TSN HET 94, 1000 31E @ T 49 wiq 3o
" 20 Y SR TE 97, 500 3@E @ T 51 WA IAE
"26 gl ot g 745, fRifa ges 1000

" 30 T SRy "l 100, 800 3HE @ T 52 WA MR
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